Efficiency vs dr

o
[od

efficiency vs AR

o o o o

D 3] o)) ~
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o
w

—s— DQM_TT _original_time2
—e— DQM_TT_modified_time2

.| —— DQM_TT_modifiedINIT_time2

[y
TTTT] T T

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.05———
a Eo:o
©.045F -+

e - - Pl

n E

o

o

[

n ]
IIIIIIII_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

09855560 65 70 75 80 85 90 95 100
Pileup



	Contents
	Page 1


